N/ EGO gardendecoration

Day1 Tasks
Armenian (ARM)

D. Garden Decorations

Problem Name Garden Decorations
Time Limit 7 seconds

Memory Limit 1 gigabyte

UJGU op MwuwnebU nwpng quwint L tninu yGpwnwnUwnt swuwwwnhhu wugunwd £ N
hwuwu tnwlu Ununnny, npnup hwdwpwywywé U 0-hg N — 1 pdtpny: Wu wywhhl, ¢-pn tnwil
JGp wwpnud £ ¢ hwdwpny Jwpnp: SGuwpwUuh thnthnpunipjwt hwdwp, puwyhgubpp
npn2t| GU tnuGpny thnpudG: Uwubwynpwwtu, 2-nn inntu inGnwithnpudGint £ a; hwdwnpny
dwnnp (n hhdw wuwpnud £ a; hwdwnny tnwu JGe):

Pninnp wnnutpp pwynud Yw ppguh wpowl: Updwlutph plttpp nwutbu Gpyne huwpwynnp
yhtwy. pwg (Qundtu pngblhu) wd thwly (Yupsdbu gbwnlh ypw): Fuwyhgubpp
gwluywunwd GU, np hpGug Unp wnnnu ppguh wpéwup |huh wjuwyhuh yhtwynd hugwhuhu
wju hptug uygpUwlywlu wnwlulu Ep, hwwnwy nbwpnud s6U nGnwithntugh: Ywungtu
gwlulywunud £ oqub] puwyhsutphu W thnputbp wpéwuutbph yhdwyutpp wjuwbu, np pninpp
Jwpnnwlwl wntnwihnpuybi:

Ypwl hwulGint hwdwnp bw wunwd EhGinlywip. Gpp Uw wlugunwd EwnutGph Unuinny (nwnng
quwihg Ywd wnnu yGpwnwnuuwihu), bw JGYy wn JdGy wnbGuunwd E vnubph wpowulutGph
JhowyuGpp W Ywpnn EtkhnpuG punwghy nnwu wpdwuh yhdwyp, Gt gwuywuw (pwgbiny
ywd thwlytiny pltpp): Lwuh, np Lw 2wwn gpwnywéd E |hunwd tnwup W nwpngnid, Uw gh
hhonwd wpaéwlubph Jyhdwyutpp hp Uwhunpn  wlgnwdutph dwdwuwly:
PwpGpwhinnwpwn, Uw hp tnnGunpnwd gpGl Eagp, a1, ...,any—1 hwenpnwwlncpyniup, wjuhUpl
ghwnh pG, np puwyhgp, np nnnu EnnGnwithnpuyGine:

Oqutp Hwnewhlu wjuwyhuh upwwnbgw Jdunwédtb], nn huwpwdnn |huh pninp pbwyhgubph
wwhwUuglbpp pwywnpwnt npn2 wugnudutphg hGwnn: Lw Ywnpnn £ wlugub| tnuGph Unuinny
wnwybjwagnyup 60 wugwd, pwjg wyth pwpan Jhwynn unwuwnt hwdwp bw wybih phg
wlugwd wybuwnp Ewuguh dwuwwwnhn:

PpwywlwgnLd

Uw multirun puunhp £, wjuhuplu JGYy pGuunnp unnwgbint hwdwnp Q6p é6pwaghpp Uh pwuh
wlugqwd E w2huwunwgybnc:
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Epp Qtp dpwaghpp whuwwnwgynud E, uygpnud wybwnp £ Ywpnwp Gpyne phy w W N.
wlugdwlU huntbpup W wnubph pwlwyp: Qtp Spwanph wnwehu wuqwud w2huwwnwgubnL
dwdwlwy w =0, Gpypnpn wlgwd w2huwwnwgytbint dwdwuwly w=1, L wnwbu
2wnpniuwy (JwupwJdwuluncpyntuubpp tnpwé Gu unnpl):

Epynpnpn Linnnud tnpwé Gu N hwwn pybn’ ag,ai,...,any—1. ¢ hwdwph nnlu ybwnp E
inbnwhnhuyh a; hwdwnpny dwnnp: a;-Gpp uadnwd GU inGnwihnpuncpyncli. wayuhuplu 0-hg
N —1 pyGpp hwunhwynw BU 6hpun JGy wluqwu: Ljwuwnbp, nnp puwyhgp Ywpnn E
sinGnwthnpuyb|, wn nGwpnwd a; = 4:

Uty ptunh dwdwuwy puwyhgsubpp ywwnmwnpynwd £ pbwyhsubph JGY inGnuithnhuncpniu:
Uw Lpwluwynwd £, np N-h W a;-Gph wnpdtGpubpp Gy pGunh unnigdwt dcwdwuwly Qtp
Snwahpp whuwwnwguthu ¢6U thnpuyned:

UnwohU wugwd w2hpuwwnwgutihu. ..

UnwyehU wugwd w2huwwnwglbihu w = 0: Wu nGwypnud nLnnwyh wybuwnp Eunwb ey phy W
(0 < W <60), H*ingth wugnuwubph pwlwyp (pwuh wuqwud Q6Gp dpwaghpp wbwnp E
w2huwwnwgyh): Wunthtinle Q6p épwaghpp wbwnp £ wdjwpundh: Upwuhg hGunn Qtp
Spwahpp whuwwnwgybine £ llu W wuquid:

Lwyonnpn wugwdutpned.. .

<wonnn w2huwwnwglbint dwdwuwy w = 1, Gppnpn w2hpuwwnwglbint dwdwlwy w = 2, W
wjnwtu 2wpnibwy vhgl yGnohu wuqwdp, npintn w = W:

w, N W ap,ai,...,an—1 pYGpp Ywpnwintg htGwnn, HGungtu ulyunwd £ pwjltp wlbwuwwphh
Gpywjupny:

e Gpt w-U ytGuwnn E YGwngtu qunuwd E nwypng L wubtpny wuglbipe £ 0,1,...,N —1
hGppwlywunLpjwdp:

<hdw atin 6pwahpp wtwnp £ Ywnpnw b phyp, npp Ywd 0 £ (hwy plbipny) yud 1t
(pwg pUtpny). 0 hwdwpny wnwl wnwe qgunuynn wpdwluh yhéwyp: by prhyp
wnpnwinitg htuinn, Hnp wyhwnp £ unwbp UGy tnnn npp wwpnituwynwd £ 0 wd 1. bp-h
unp wnpdtpn:

WunthGunle Q6n dpnwahpp wbwnp £ ywpnw b; phdp. 1 hwdwpny tnwlu wnpéwlh
Jghéwyp; WL wnnwyh bi-h Unp wnpdtpp: Uw wpynwd £ N wnubphg jnipwpwlgniph
hwdwnp: dbpohU tnwl Unuinny wuglbintg hGwnn (wjuhuplu by—1-p Ywpnwinig W npw
Unp wndtipp npn2tinLg htiuinn) tp dpwghpp wtwnp Ewyjwnpunyh:

Liywwnbip, nn atn épwahpp Yuwnpnn £ ywnnwy biv 1 phyn dhuwyhl b; pyh Unp wndbpp
nnnpbinLg htuwnn:
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e Gpbt w phyp gnyg £, HGuingkUu qwihu £ wninlu WL tnubpng wuguGintE N —1,N —2,...0
hGppwywunLpjwUp:

Mpngbup hwJdpuyunwd £ w-h yGuwn |hubinLe ynpngbuh hGun, dhwju uygpnd dowyytnc
Eby_1-p, hGunn by_2-p, W wynwbtu 2wnnluwy, huy yepened by-u:

Epp w=1, by,b1,...,.bh—1 hwonpnwywunipintup ubpywjwgunwd E  wpéwllbph
uygpdwlwywu yhéwyubkpp: 6pp w > 1, Qg wnipynn by, b1, ...,bxy—1 pYLGpp hwdpuyunwd Gu
Qbp 6pwanph bwhunpn w2huwinwuphg hGunn unwgywéd pYtph htun:

Qtin 6pwanh ytpghu whuwwnwuphg hGwnn b;-U whwnp £ hwdwuwnp |huh uygplwywl b,-
hu pninp 2-ph hwdwp, hwwnwy nGwpnid yunnwlwp Wrong Answer:

Uwupwdwulbn

Ept Qtp 6pwagph W +1 whuwwnwlupubph dwdwuyubph gndwnp gbpwquugnud E
dwdwluwyh uwhdwluwthwynwdp, www Yuunnwlwp Time Limit Exceeded:

2h26p, np ywdwjwlywUu innn inwbintg hGinn wybwnp £ dwpnb] unwunwnpu Giph pnudtpp,
hwlywnwy nbGpnwd Ywpnn Gp unwluw| Time Limit Exceeded: Python [Gqunid, uw wntnh E
nluGunwd wydwnndwuwn: C++ |Ggynud, cout << endl;-p Jwppnud E unnwlunwnpwn Gph
pndtpp unp wninnh  wlglbint hGun  JGywntn, huy printf oquwagnndtint ntwpntd,
ogqunwighndtbp fflush (stdout):

UwhJdwUwthwyndutn W SUwhwuwunned

e 2 < N <500.
* Yuwpnn tp ogunnwgnpdt| wnwytbjwagnyup W < 60 wphuwwnbgnidubn:

Qtn nonudp pGunnwynpytint £ Uh pwuh pGuwntph pudptnh ypw (Gupwhilnhn), nnnughg
jnLpwpwugnpp ywnnn £ wnwi nnnpwiyh dhwygnp: UJGU punudp wwpnuwynwd E npnwyh
pwlwynipjwdp pbuwntn: Gupwpiunphg Jhwynnp unwlwint hwdwp wbunp E wn
Gupwhiunnh pninp pGuwntnp |INLGYw d |hubu:

funidp  Unwybjwugnyu Jhwynp UwhdwlUwthwynwtup

1 10 N =2

2 24 N <15

3 9 a=N-—-1-—3

4 13 ai = (i +1) mod N

5 13 a; = (1 —1) mod N

6 31 Lpwgnighy uwhdwUuwthwynwdutbp sywu
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Eprb Qtn (nLénudp 6hown £ wohuwwnt) Gupwhiunnph pninp pGuntph ypw, www Juunwluw
hGunlw| Jhwdnpp.

score = S - (1 — 1 log,((max(Wy,3)/3)),

npwntin Sg-U nyjw| Gupwhiunnh wnwytjwagnyu Jhwydnpu k£, L Wy-U Q6p gnuinwgnpdwéd W-
h wnwyGlwanyl wndtpp, wju Gupwhulnnh pGuwntnh ynw: Uhwdnpp yyinpwgyh dhz
dnuinww wdpnng rrhyn:

<tunlywl $ncuyghwh gpnwdbhp Lywpwanpnud £ Uhwydnputinh pwlwyp, npp 26p 6pwahpp
unnwluwp, Gpt pninp pbuntpp |ndGp W w2huwwnwgnud  oquwgnpdtiny:
Uwulwynpwwbu 100 Jhwynn uwnwlwint hwdwp wbwp E oquwagnpdty W <3
w2huwwntgned:

(3,100)

1004

50+

(60, 35)

[FGunwyynpdwt gnpdhp

Lnyw] uinngnudp hGunwglbint hwdwn Qtgq wpdnwd £ gnpdhp: 9npéhpp Ywpnn Gp
Utpptnutb| “attachments” pwdunwd npp gunnynud E Kattis problem page-h Utpplnid: @npdhph
oguinwagnnédndp wwnunwnhp ¢E: Q6n épwahpp unnwgybine £ JGY wy gnpéhph vhgngny:

Annsdhpp oqunwagnpdtint hwdwn uinkndtip input file, opnhLUwy™ “samplel.in”, nph wnwehu
nnnnud wbwnp Egnywé thuh N phyp, nphu hwenpnnud £ N hwwn pykn, npnnup hptughg
uGpywjwgunwd GU nnGnwthnhunip)ntl (@ hwenpnwwuniejniup), wwyw wbwnp £ npwd
(huGu N hwwn phptp (0 Ywd 1). wpdwulubph uygpwywlu yhdwyubpp: Ophuwy.

120435
110010
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C++ Ltgyh hwdwpn, uygpnd yndwhwgnptp épwaghpp (opnhuwy oguinwgnnpétiny g++ -g -02
-std=gnu++20 -static solution.cpp -o solution.out hpwdwlp), wjunthGunl
anpéhpp ogunwagnpétp hGuinlyw| hpwdwuny.

python3 testing tool.py ./solution.out < samplel.in

Onhlwly

Opphuwyntd mpywé Edwnpnuwug hGnlyw inGnwithnhuncpyniup.

/\ V S
DEOH GO
10 21 0 40 30 5

UnweohlU wugqwu whuwwnwgutbihu (w = 0), Spwaghpp nnwynwd £ W = 2, wjuhupu YGwnetU

wuglbnL £ Gpyne wugwd (L Spwaghpp w2huwwnwgytbine £ bu Gpyne wuqwid): Unwghlu
wlugnudhg wnwye wnpaéwuubnp nLlubu hunnww yhtwyubpp.

UjunthGinle é6pwaghpp w2huwwnwgynud £ w = 1-nd. wagnwpwnpbiny, nn uw Ytwngkh
wnwehU wugnwdu E: Lw wugunwd £ wpadwlubph Yynnpny JGy wn JGYy, dwhuhg we, W
thnthnpunwd £ npn2 wpdwuluGph yhdwyubpp: Spwaghpp wybwnp £ vnwyh 2-pn wpdwlh
Jhdwyp (i + 1)-hp yhdwyp Yuwpnwinig wnwe:

QEuinebh nwnpng hwulbinLg hGuinn yhtwyubpp wjuwyhuhu Gu.

Jdbnghu Ywlgsh dwdwluwy (w = 2) HYaunetlu yGpwnwnunwd £ nwnnghg wnnnidu: Wju nGwpnid
Uw wlgunwd £ wohg dwhu: YuhUuplt Uw wbwp £ npn2h i-pn wpdwuh yhéwyp (i — 1)-p
wnbulbnLg wnwy:

Snuu JGpwnwnUwintg hGunnn wpdwulutnpp ntuGU hGuinlyw | inGupp.
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hnpnp, uw 6h2wn yhdwyubp Gu: ophbwy b3 =1, hugp 6h2wn £, npnyhGwnl 4 hwdwnph Jwpn
wbwnp E nnbnwithnfudh wnuntn (a3 =4) W bw h uygpwlub nlubp pwg dGnpbpnd wpédwu
(huygqpwlut by = 1).

grader output your output
06
120435

grader output your output

16
120435
1

0
1

1
0

0
0

1
1

1
0
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grader output your output

26
120435
1

0
1

0
1

1
0

1
1

0
0
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